

Additional Funding Request

VA049	CSS 26558 WO# 12769 Asset# NA											
Description of Repairs	Will Replace 16 Batteries in the Wall mounted Emergency Lighting and 2 brackets for the fire extinguishers to pass inspection.											
Diagnosis: Initial Work Order	Remove old wall mounted emergency lighting. Install brackets for fire extinguisher. Needed to pass safety inspection. AFOS/FAC will provide specific details of exact location of all brackets and emergency lighting											
Diagnostic Fee	<p>\$ 320</p> <p>Labor \$80/hr x 4</p>											
Additional Labor Cost to Perform Repairs	<p>\$ 800</p> <p>Labor \$80/hr x 10</p>											
Additional Cost	<p>\$ \$1,258.80</p> <table border="1" style="width: 100%; border-collapse: collapse;"> <tr> <td style="width: 50%;">Fire Extinguisher Brackets #3JMY7</td> <td style="width: 10%;">2</td> <td style="width: 10%;">\$82.20</td> <td style="width: 10%;">\$164.40</td> </tr> <tr> <td>Lithonia Sealed Lead Acid Battery#4PH44</td> <td>16</td> <td>\$68.40</td> <td>\$1,094.40</td> </tr> </table>				Fire Extinguisher Brackets #3JMY7	2	\$82.20	\$164.40	Lithonia Sealed Lead Acid Battery#4PH44	16	\$68.40	\$1,094.40
Fire Extinguisher Brackets #3JMY7	2	\$82.20	\$164.40									
Lithonia Sealed Lead Acid Battery#4PH44	16	\$68.40	\$1,094.40									
Total Cost of Repair	\$ 2,378.80											



WORK ESTIMATE

CSS #: Work Order #:
Emergency Urgent Routine

Company Name:	Tidewater, Inc.	Facility ID:	VA049
Contractor POC:	Adam Colopy		
Telephone No:	740-819-6207	Building/Location; (e.g.,	
E-Mail Address:	adam.colopy@tideh2o.net	Classroom/Room #)	
Assigned Technician(s):	Richard Walker		

DESCRIPTION of WORK and EXPLANATION for REPAIRS or REPLACEMENT

Will Replace 16 Batteries in the Wall mounted Emergency Lighting and 2 brackets for the fire extinguishers to pass inspection.

LABOR/MATERIAL		MATERIAL/ SUB UNIT DOLLAR AMOUNT	LBR/HR \$80	LINE ITEM TOTAL DOLLAR AMOUNT
ITEM	QUANTITY			
Diagnostic			4	\$320.00
Fire Extinguisher Brackets #3JMY7	2	\$82.20		\$164.40
Lithonia Sealed Lead Acid Battery #4PH44	16	\$68.40		\$1,094.40
Labor			10	\$800.00
SUB-TOTAL COSTS:		Materials Total	Labor	\$1,120.00
		TOTAL		\$2,378.80

← Cart

[Continue](#)**Order Summary**

Subtotal	\$1049.00
Estimated Total	\$1049.00

Check Availability

Zip Code

**My Products**

AMEREX
Fire Extinguisher Bracket, Strap, 30 lb Capacity, 6 1/2 in to 8 in Cylinder Dia., Steel
Item # 3JMY7

Qty
2

Total
\$137.00

Web Price **\$68.50** / each[Remove](#)

LITHONIA LIGHTING
6V, 4.0Ah Sealed Lead Acid Battery
Item # 4PH44

Qty
16

Total
\$912.00

Web Price **\$57.00** / each[Remove](#)



